ESTIMATION & LEAST SQUARES: PLAN: - THIS WEEK : LEAST SQUARES

- LEAST SQUARES & PROBABILITY

- KALMAN FILTER:

NOTATION : State / parameters X: true state (unknown) (parameters) x: measured (known) State x: estimated (compute) State noise terms V: measurement noise ~ distribution "noise in the sensor" W: process noise ~ distribution "noise in the model" - inacavote modeling - dynamic noise e: residual emor state vs. current meas vs. estimation $e = \tilde{\chi} - \hat{\chi}$

LEAST SQUARES:
HOVEL:
$$y(t) = \sum_{i=1}^{n} x_i h_i(t)$$

 $formulat = \sum_{i=1}^{n} y_i h_i(t)$
 $formulat = \sum_{i=1}^{n} y_i h_i(t)$
 $formulat = \sum_{i=1}^{n} y_i(t)$
 $formulat = \sum_{i=1}^{n} y_i(t)$

$$\begin{array}{c} \overleftarrow{y(t_{n})} \\ \overleftarrow{y(t_{m})} \\ \overleftarrow{y} \\ \hline \end{array} \end{array} = \begin{array}{c} \begin{pmatrix} h_{1}(t_{1}) - \cdots + h_{n}(t_{n}) \\ \vdots \\ H \end{array} \end{array} \begin{array}{c} \chi_{1} \\ \chi_{n} \\ \vdots \\ \chi_{n} \\ \hline \end{array} \right\} + \begin{bmatrix} v(t_{1}) \\ \vdots \\ \vdots \\ \vdots \\ \chi_{n} \\ \vdots \\ \vdots \\ \chi_{n} \\ \chi_{n} \\ \vdots \\ \chi_{n} \\ \vdots \\ \chi_{n} \\ \chi_{n}$$

to find x. that assumes noise
has as little impact as possible
find x.
Min
$$|\tilde{y} - y|^2 = |\tilde{y} - Hx|^2$$

x T T measure what we expect
true to be
min $(\tilde{y} - Hx)^T (\tilde{y} - Hx) = J(x)$
 \tilde{x}
 $\tilde{y} = 0: \frac{\partial}{\partial x} (\tilde{y} \tilde{y} - 2\tilde{y}^T Hx + x^T H^T Hx))$
 $-2\tilde{y}^T H + 2\tilde{x}^T H^T H = 0 \in$
or use chain rate ...
 $J(x) = z^T z$ where $z = \tilde{y} - Hx$
 $\frac{\partial J}{\partial x} = \frac{\partial J}{\partial z} | \frac{\partial z}{\partial x} = 2z^T (-H)$
 $\frac{\partial J}{\partial x} = \frac{\partial J}{\partial z} | \frac{\partial z}{\partial x} = 2z^T (-H)$
 $z = \tilde{y} + Hx$
 $z = \tilde{y} + Hx$
 $\frac{\partial J}{\partial x} = \frac{\partial J}{\partial z} | \frac{\partial z}{\partial x} = 2z^T (-H)$
 $z = \tilde{y} + Hx$
 $z = \tilde{y} + Hx$
 $\frac{\partial J}{\partial x} = 2\tilde{y}^T H + 2x^T H^T H = 0$

$$= z(\tilde{y} - Hx)T(-H) \rightleftharpoons$$

= $- z\tilde{y}TH + zxTHH = 0$

